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QUESTION 1

What is the purpose of the standard function "exists" when used for a source element in message mapping?

A. To check whether the element exists in the source message

B. To check whether the element in the source message has a value
C. To check whether the same element exists in the target structure
D. To check whether the element is mandatory in the source structure

Correct Answer: A

QUESTION 2

What is the purpose of the JMS adapter?

A. To communicate with a mail server asynchronously

B. To communicate with a mail server synchronously

C. To communicate with a messaging system synchronously
D. To communicate with a messaging system asynchronously

Correct Answer: D

QUESTION 3

What is the purpose of the standard SplitByValue function?
A. To split the payload

B. To replicate a value of a field that occurs once

C. To insert context changes into a queue

D. To split a string into substrings

Correct Answer: C

QUESTION 4
Which of the following are characteristics of enterprise services? (Choose two)
A. They are based on global data types.

B. They are semantically harmonized across applications.
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C. They can be easily used as imported archive objects.
D. They can be used to extend BAPIs.

Correct Answer: AB

QUESTION 5

What are the key capabilities of SAP NetWeaver Process Integration? (Choose three)
A. Connectivity

B. Mapping

C. Routing

D. Master data management

E. Multi-channel access

Correct Answer. ABC

QUESTION 6

Which message protocol is used in communication between a local Integration Engine and the SAP NetWeaver PI
system (central Integration Engine)?

A. SOAP message protocol
B. RFC protocol

C. HTTP-XI protocol

D. XI message protocol

Correct Answer: D

QUESTION 7

Which of the following configuration objects do you use to configure message processing on the Advanced Adapter
Engine?

A. Receiver determination
B. Integrated configuration
C. Classical configuration

D. Sender agreement

Correct Answer: B
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QUESTION 8

You have selected the delivery mode Without Buffering for your integration process.

What do you have to consider in order to avoid the process type-specific queue going into a SYSFAIL state?

A. You have to use configurable parameters in order to specify the queue name.

B. You have to enable correlation for the integration process.

C. The process instance cannot use correlations to collect messages from different communication components.

D. The process instance must provide an open receive step when the message is handed over to the Business Process
Engine.

Correct Answer: D

QUESTION 9

Where do you create a communication channel template?
A. In Enterprise Services Repository

B. In the Integration Directory

C. In the System Landscape Directory

D. In the Runtime Workbench

Correct Answer: A

QUESTION 10

Which of the following adapters can you select in the communication channel when using Process Integration proxy
communication?

A. Xl

B. HTTP
C. WS-RM
D. RFC

Correct Answer: A

QUESTION 11

In SAP NetWeaver Process Integration, you can use operation mapping either to transform the payload or to determine
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the receiver dynamically.

Which configuration objects can you use to reference operation mapping? (Choose two)
A. Receiver Agreement

B. Interface Agreement

C. Receiver Determination

D. Interface Determination

Correct Answer: CD

QUESTION 12

You want to create multiple configurations for one ccBPM process without changing the corresponding process
definition.

What do you use to achieve this?
A. Process signature

B. Configurable parameters

C. Container definition

D. Correlation

Correct Answer: B

QUESTION 13

Which of the following tasks can you perform in the Runtime Workbench? (Choose two)
A. Stop certain communication channels.

B. Monitor the ccBPM integration process.

C. Configure the Integration Engine.

D. Configure a user-defined message search.

E. Check the Alert Inbox.

Correct Answer: AE

QUESTION 14

On what is the Advanced Adapter Engine Extended based?
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A. A standalone J2SE engine

B. An SAP NetWeaver Application Server Java

C. An SAP NetWeaver Application Server dual stack (Java + ABAP)
D. A non-central Advanced Adapter Engine

Correct Answer: B

QUESTION 15

After you create a business system in the System Landscape Directory, you can assign a transport target to this
business system.

What is the purpose of a transport target?

A. Transport targets are the names of technical systems that correspond to each other but are located in different
technical system groups.

B. Transport targets are the names of business systems that correspond to each other but are located in different
business system groups.

C. Transport targets are used to enhance performance of the transport process between systems that are located in
different business system groups.

D. Transport targets describe the message flow in messages sent from the business system that are located in different
business system groups.

Correct Answer: B
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